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FMEFAH : 20810H28H (K) St&AE: 9TWRUF NBADRTE © Ry MIE
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KING DQ®D® =15 265 A
Avk . PARx2 PRINCE Q@B@®»®®® pogia 33 A
QUEEN ©OQ2@®@®® 327 0 A HDCP_LIRE :
ShNE 298 A B 36 36327 :36
[[:Livd SNELZ KING | PRINCE| QUEEN GRoss| HDCP| NET {@E= [[:Tiv s2nE4 KING | PRINCE| QUEEN GRoss| HDCP| NET 5= [[:Ljva anas4 KING | PRINCE| QUEEN GROss| HDCP| NET e
R 41 41 82] 12.0 |70.0 51 |KK fE= 44] 48 92] 18.0 |74.0 101 | @)1 & E 56| 46 102| 26.4 | 75.6
2 Bl BB 41 38 79| 8.470.6 52 [k &% 45| 47 92| 18.0 |74.0 102 | #5K FE= 46| 44 90| 14.4 |75.6
3 EEp =B 42| 43 85 14.4|70.6 53 | XE¥ i 44| 48 92| 18.0 [74.0 103 | &4 @#— 48| 47 95| 19.2 [75.8
4 | Kf{ #*9 42| 48 90| 19.2(70.8 54 | x— 47 39 86| 12.0|74.0 104 gith 2 39, 44 83| 7.2[75.8
5 gHAOE 41 43 84| 13.2/70.8 55 [HEIL EiE 44| 54 98] 24.0 | 74.0 105 |fEHE Bk 41 48 89| 13.2/75.8
6 Fith IE 38 39 77| 6.0]71.0 56 | —= 55 46 45 91| 16.8(74.2 106 |FRJE BIF 43| 40 83| 7.2/75.8
7 BEE 45 43 88| 16.8]71.2 57 = A8 41| 44 85| 10.8 |74.2 107 |i87K X¥Fia 43| 40 83 7.2/75.8
8 FHf=E AT 45 37 82| 10.8]71.2 58 |hiR J¥— 43| 42 85| 10.8(74.2 108 | H F EE 45| 44 89| 13.2/75.8
9 FHl=E HF— 38| 43 81| 96|71.4 50 T8 RA 48| 43 91| 16.8 [74.2 109 | _FEA 5R8 43| 46 89| 13.2 |75.8
10 |AR =3k 44 43 87| 15.6 |71.4 60 | H Lt {FE 42| 43 85| 10.8[74.2 110 pkE El5A 42| 41 83| 7.2[75.8
11 7% X{F 42| 45 87| 156 [71.4 61 | &K IfkE 43 42 85| 10.8 [74.2 111 | K5 —EBP 38 45 83| 7.2/75.8
12 [$fith D&U 43| 38 81| 9.6|71.4 62 | Kt BF 41| 44 85| 10.8 [74.2 112 AF 159 39, 44 83| 7.2[75.8
13 P& fEA 37| 37 74| 2.4 71.6 63 |hff &Hx= 44| 47 91| 16.8[74.2 113 | =% @B 42 40 82 6.0/76.0
14 R/l K 40| 40 80| 84|71.6 64 MH BF 45 46 91| 16.8(74.2 114 §H IEA 50| 44 94| 18.0|76.0
15 |fafE SRIRER 39| 41 80| 8.4|71.6 65 HW EF 44| 47 91| 16.8 [74.2 115 | J& 2B HXIE 44| 44 88| 12.0 |76.0
16 |ILUFE HAZ 42| 44 86| 14.4|71.6 66 |2 MEE 47| 49 96| 21.6 |74.4 116 S Xk 43 45 88| 12.0/76.0
17 #1HE 182 44 47 91 19.2|71.8 67 | ¥k BB 42 48 90| 15.6 |74.4 117 | AR BZN 47| 47 94 18.0|76.0
18 | &I} 828 44| 35 79| 7.2|71.8 68 |[7K #§3 46 44 90| 15.6 |74.4 118 |{[H X 41| 47 88| 12.0/76.0
19 PIE |8 38 41 79| 7.2|71.8 69 Hp =& 40| 38 78| 3.6|74.4 119| KF BE 48 46 94| 18.0|76.0
20 A &€= 43| 41 84| 12.0 [72.0 70 |3g5th =& 44| 45 89| 14.4 |74.6 120 | B E£— 46 48 94| 18.0 |76.0
21 | KBy 8% 41 43 84| 12.0 |72.0 71 |/ Ei 40| 37 77| 2.4174.6 121 | 55 [ 57 49 106| 30.0 |76.0
22 |TB3P BE 45| 45 90| 18.0/72.0 72 |EH 8FX 42| 35 77| 2.4|74.6 122 | KB = 47| 47 94| 18.0|76.0
23 |I5A S8 45 39 84| 12.0/72.0 73 |1EE BN 44| 51 95| 20.4 [74.6 123 Bl RF 51| 49 100| 24.076.0
24 @itk T 41 42 83| 10.8 [72.2 74 | S = 40 42 82| 72(74.8 124 | A INF] 44 43 87| 10.8]76.2
25 E7F B8 44 45 89| 16.8 |72.2 75 BH £— 42| 46 88| 13.2(74.8 125 HHE Ih 46| 47 93| 16.8 [76.2
26 | —= Sk 44| 44 88| 15.6 |72.4 76 |IEH B=1f 46| 42 88| 13.2(74.8 126 |/\EF {BIE 42| 45 87| 10.8(76.2
27 Al — 43 39 82| 9.6(72.4 77 | KIB 13 43 51 94| 19.2 (74.8 127 | EMA 8 45| 48 93| 16.876.2
28 |n]EF FPiE 43 38 81| 84(72.6 78 G —=7K 43 45 88| 13.2(74.8 128 |[#@ I\ 47| 46 93| 16.8 [76.2
29 &H PEX 43| 37 80| 7.2/72.8 79 T —2 41 41 82| 7.2|74.8 129 | 5288 HZ 40| 41 81| 4.8/76.2
30 |JEER (&5 40| 46 86| 13.2(72.8 80 | K7 I 43 50 93| 18.0 [75.0 130 | IUF €% 47| 52 99| 22.8/76.2
31 | FEFl B 49 43 92] 19.2]72.8 81 | K% +ME 44 43 87| 12.0 |75.0 131 | §§I 5h3T 47| 52 99| 22.8(76.2
32 iR EXSBEp 42| 38 80| 7.2/72.8 82 |HEN EKid 40| 41 81| 6.0]75.0 132 |18H &H— 49 56 105| 28.8 |76.2
33 |FE 4 46| 46 92| 19.2 |72.8 83 [IUA& E— 49| 44 93| 18.0 | 75.0 133 |HER FR3FE 46| 47 93] 16.876.2
34 |PREP =B 37 43 80| 7.2(72.8 84 A B 40| 41 81| 6.0(75.0 134 B BRF 44 42 86| 9.6/76.4
35 FE #HA 41 50 91| 18.0/73.0 85 |LlUA 2—Hp 46| 47 93| 18.0|75.0 135 | KH = 57 53 110| 33.6 |76.4
36 |OJEF =— 48 43 91| 18.0/73.0 86 IR R 43| 43 86| 10.8 [75.2 136 357K THX 45| 47 92| 156 |76.4
37 |HpH E—EB 44| 41 85| 12.0/73.0 87 iB/KK BE 47 51 08| 22.8 75.2 137 SH AZ 45| 53 98| 21.6 | 76.4
38 A —= 41 43 84| 10.8(73.2 88 jAlM F& 43| 43 86| 10.8[75.2 138 X R 44| 42 86| 9.6/76.4
39 | —= [F= 45 45 90| 16.8]73.2 89 |fitH B 48 44 92| 16.8 |75.2 139 | A 18 45| 40 85 8.4/76.6
40 HEAR 183 39 39 78| 4.8173.2 90 =Ll RER 48| 38 86| 10.8[75.2 140 | |LI5F 1 43 42 85| 8.4/76.6
41 BA 3B 40 43 83| 9.6/73.4 91 1A W 46| 46 92| 168 |75.2 141 | BIF 1= 43 42 85 8.4|76.6
42 |iBH IEX 43 40 83| 9.673.4 92 BR E_ 40/ 40 80| 4.8/75.2 142 |5 FE 39 40 79| 2.476.6
a3 ’{H &— 42| 40 82| 8.4/73.6 93 K &1t 37| 37 74| +1.275.2|~r2J0& 143 |§EHF EXT) 47| 50 97| 204 |76.6
44 1&EM S 40| 36 76| 2.473.6 94 154 et 43| 48 91| 156 |75.4 144 | §55th 5% 44 41 85| 8.4 76.6
45 |fEH HWiE 39 43 82| 8.4/73.6 o5 [YTH &R 42| 43 85| 9.6|75.4 145 |[{H £ 44| 47 91 14.4|76.6
46 |iBH fih 39 42 81 7.2|73.8 96 IO && 44 41 85| 9.6|75.4 146 | =M 41 50 91 14.4|76.6
47 #iA Y 41| 40 81 7.2/73.8 97 |LUA Bl— 50, 53 103| 27.6 |75.4 147 BE ik 49 60 109| 32.4 |76.6
48 P #1585 43| 44 87| 13.2]73.8 98 (kALK FE= 40| 39 79| 3.6|75.4 148 | $hH T 49| 48 97| 204(76.6
49 kLXK B—Z 48 45 93| 19.2(73.8 99 KiE RX 43| 41 84| 8.4(75.6 149 |57 =EX 42| 42 84 7.2/76.8
50 | A+ —iE 38 37 75| 1.2/73.8 100 7% —BE 46| 50 96| 20.4 |75.6 150 ({1 B 49 47 96| 19.2 |76.8
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&4z SNELZ KING | PRINCE| QUEEN GROss | HDCP| NET i [l:2iva shn&4 KING | PRINCE | QUEEN GrRoss | HDCP| NET i [[:1 i3 &4 KING| PRINCE | QUEEN GRrRoss | HDCP| NET &%
151 +H E 51| 51 102] 25.2]76.8 201 557K B5F 50, 49 99| 20.4 |78.6 251 | &)l M1&% 49| 47 96| 14.481.6
152 |3 Bk 46| 38 84| 7.2/76.8 202 |76 @ 56 55 111| 32.4 |78.6 252 | KA FEZ 50| 46 96| 14.4 81.6
153 IUF &= 46 44 90| 13.2/76.8 203 Il F= 56| 48 104| 25.2 |78.8 253 | {47k RS 49 46 95/ 13.2[81.8
154 {15 §E5] 48| 48 96| 19.2 |76.8 204 |pAEp B 46| 40 86| 7.2|78.8 254 |{84E =M 49| 52 101| 19.2 |81.8
155 KIE B 45 45 90| 13.2/76.8 205 [ #5H1 44 42 86| 7.2/78.8 255 HhA S 45 44 89| 7.2/81.8
156 1T #Bif 51| 44 95| 18.0 |77.0 206 —= HF 48| 49 97| 18.0/79.0 256 |IMNI| BBo— 47| 53 100/ 18.0|82.0
157 | GH ¥F 49| 52 101| 24.0 |77.0 207 | =I5 RER 47 44 91| 12.0 [79.0 257 | FEE 46 42 88| 6.0/82.0
158 {ZH FE 51| 44 95| 18.0 |77.0 208| 3% =% 54| 49 103] 24.0(79.0 258 | IRt E3E 57| 61 118| 36.0|82.0
159| ” & $#2 41 42 83| 6.0/77.0 209 A& BIL 54 49 103] 24.0 [79.0 259 ifE 5t oA 52 53 105| 22.8 [82.2
160 |3 $RER 46| 49 95| 18.0]77.0 210 HE &l 47 44 91| 12.0[79.0 260 | FTEA I &kF 54| 57 111 28.8 [82.2
161 =HF IE= 51 43 94| 16.8 |77.2 211 [{k 4K [EE) 46| 51 97| 18.0|79.0 261 |jAJBF XF 54 45 99| 16.882.2
162 | LI EE 44 44 88| 10.8 |77.2 212 | FxI 3Lk 51 45 96| 16.8 |79.2 262 B EX 60| 45 105/ 22.8 |82.2
163 i 55 47| 41 88| 10.8(77.2 213 {AE 8% 58/ 56 114] 34.8(79.2 263 |5t B2 50, 54 104| 21.6 |82.4
164 KT H— 41 41 82| 48/77.2 214 | KIR 5 52| 44 96| 16.8|79.2 264 | ¥k #i” 46/ 58 104 21.6 |82.4
165 HH jJE—EB 44| 44 88| 10.8[77.2 215 M Ei 53 49 102| 22.8 [79.2 265 | HiED [EE 43 49 92| 9.6/82.4
166 | 1)1l 3LXk 51| 48 99| 21.6|77.4 216 +/E EBEF 53| 54 107| 27.6 | 79.4 266 | =iE BB 54| 48 102| 19.2[82.8
167 | 7KEF IEZ 50| 49 99| 21.6(77.4 217 {&llU =& 50 45 95| 15.6 |79.4 267 HE = 53 54 107/| 24.0 [83.0
168 | K =Rl 46| 47 93| 156 77.4 218 JANE {— 46| 43 89| 9.6(79.4 268 | =HF HE 57| 49 106| 22.8 [83.2
169 IUF WA 48 51 99| 21.6(77.4 219 R& X 47| 47 94| 14.4 |79.6 269 | FT8H ® 55| 61 116| 32.4 |83.6
170 | i 46| 53 99| 21.6 |77.4 220 /KA B 49| 51 100| 20.4 |79.6 270 B8 &t 61| 59 120| 36.0 84.0
171 | [EEF 14 48 44 92| 144 (77.6 221 | @I &N 50, 56 106| 26.4|79.6 271 | JII7 (&7 50 46 96| 12.0 |84.0
172 |\ B3I & 51| 59 110| 324 |77.6 222 EF EIT 60 52 112| 32.4 |79.6 272 ¥H A% 63 e 118/ 33.6 |84.4
173 | Kfq FEH 45| 47 92| 144(77.6 223 | |IN E=E 47| 47 94| 14.4[79.6 273 HE FI5A 54| 52 106 21.6 |84.4
174 |BaIgp BASE 48 50 98| 20.4(77.6 224 | #5308 EXER 45| 55 100/ 20.4 |79.6 274 |$fH EE 48 45 93| 8.4(84.6
175 54K ME 50| 48 o8| 204 (77.6 225 | A HEEY 56| 55 111] 31.2]79.8 275| 7K #E 61| 50 111] 26.4 | 84.6
176 | LU B55) 51| 53 104| 26.4|77.6 226 | 5XBE FA 55| 50 105| 25.2 |79.8 276 | IA7% & 58 52 110/ 25.2 |84.8
177 |IN\EB == 49| 49 98] 204(77.6 227 | EH OFEX 48| 51 99| 19.2(79.8 277 I8 BF 69 47 116 31.2 |84.8
178 | %M =M 42 44 86| 8.477.6 228| FEA = 52 47 99| 19.2 [79.8 278 HIB 58 58 116/ 31.2|84.8
179 3EH EBX 52| 57 109 31.277.8 229 | 3EiE KT 57| 54 111] 31.2(79.8 279 #H B— 59 55 114] 28.8 |85.2
180 | fEiE iR 44| 41 85 7.2[77.8 230 Il FB 59| 52 111] 31.2 [79.8 280 | FPH= B 56 56 112] 26.4 [85.6
181 |[@7A &k 49| 42 91| 13.2|77.8 231 | K5 |z 51 48 99| 19.2(79.8 281 1% S&F 54| 58 112| 26.4|85.6
182 |EE ¥k 44| 47 91| 13.2/77.8 232 | =iflj (P{ihft 53 45 o8| 18.0 [80.0 282 |3RIK BIBN EE 57 112| 26.4|85.6
183 &S ERiff 47 44 91| 13.2|77.8 233 ”E IEZ 60| 56 116| 36.0 |80.0 283 | =¥ & 59| 59 118 31.2|86.8
184 H It =B 51| 51 102| 24.0|78.0 234 58K HF 52| 52 104| 24.0 |80.0 284 |iBEP 2R 5 54 106/ 19.2|86.8
185 |ithH I3 46| 50 96| 18.0 |78.0 235 | R 8P 49| 49 o8| 18.0 [80.0 285 | FB FTXR 61 62 123| 36.0|87.0
186 || &2 50 46 96| 18.0|78.0 236 X 8B% 51| 59 110/ 30.0 |80.0 286 | A# EA 60 57 117/ 30.0 |87.0
187 | 3k EF #HIE 44| 52 96| 18.0|78.0 237 |7#REE =i 53 50 103| 22.8 |80.2 287 | =& FIF 63| 62 125| 36.0 |89.0
188 L¥F E A 45| 56 101] 22.8 [78.2 238 A% Gl 43 48 91| 10.8 [80.2 288 | §ith 1N 56| 56 112| 21.6 |90.4
189 | A BEsE 39| 44 83| 4.8/78.2 239 BN @BF 50| 53 103| 22.8/80.2 289 IR 2 61| 66 127| 36.0|91.0
190 1 [E—EB 54| 53 107/ 28.878.2 240 HF === 54| 49 103| 22.8 [80.2 290 |lUA =X 59| 68 127/ 36.0 |91.0
1901 B)I| S 49| 52 101| 22.8|78.2 241 | H E (= 52 45 97| 16.8 [80.2 291 |lIF #hia 66| 62 128] 36.0/92.0
192 | RAEB 13 39| 56 95| 16.8|78.2 242 2MH BE 50| 47 97| 16.8|80.2 292 1R)Il EE| 63| 66 129/ 36.0 |93.0
193 BB E'{Z 46 43 89| 10.8/78.2 243 |11 &&5h 44| 45 89| 8.4/80.6 293 | ik BRE 63| 65 128| 33.6 |94.4
194 §§5T B 48| 41 89| 10.8 |78.2 244 |||l R 52| 49 101| 20.4 |80.6 294 BHA £ 56 59 115/ 20.4 | 94.6
195 |1¥H A 44| 50 94| 15.6 |78.4 245 )11 3K 53 53 106| 25.2 |80.8 295 [EAX SFE 63| 69 132| 36.0 |96.0
196 | #A7A {EF 44| 50 94| 15.6 |78.4 246 | EBF B2 53| 41 94| 13.2(80.8 296 | K& FIF 66| 70 136/ 36.0 [100.0
197 fERA ig 47 47 94| 156 |78.4 247 $EH I3 57| 55 112 31.2|80.8 297 | LUA #HiR 71 71 142| 36.0 |106.0|7-C &
198 | LLIF BA 42| 46 88| 9.6|78.4 248 | =¥ It—EB 56| 49 105| 24.0 |81.0 298 &} =B 84| 75 159/ 36.0 |123.0
199 | H ik BRE 47| 47 94| 15.6 |78.4 249 EJI| & 55 55 110/ 28.8 |81.2
200 N HSAE 48 40 88| 9.6 /78.4 250 i £ 54| 48 102| 20.4 |81.6




